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1. Pace's total cost of producing CO; cartridges is given by TC = 5% -24X2+ 144X, The level of output that
minimizes average total cost is
a)12 cartridges.
b) 10 cartridges.
¢)18 cartridges.
d) 20 cartridges.
)24 cartridges.

2. Consider a market in which high-quality and low-quality television sets are sold. Before consumers make a
purchase, they do not know the quality of the sets, but the sellers do know. As compared to a situation where
both consumers and sellers know the quality for the sets, this situation would

a) cause no change in the ratio of low to high quality sets sold.
b) increase the fraction of high quality sets sold.
¢) increase the fraction of low quality sets sold.

d) cause the average price of goods sold to rise.

3. The principal-agent problem in corporation exists because the managers of a firm
a) may pursue their own goals even when the result is lower profit for owners.
b) may know how to operate the business better than absentee owners do, and yet not be allowed to.
c) are generally umable to do the monitoring that would result in the firm’s avoiding moral hazard
problems.
d) are generally unable to do the monitoring that would result in the firm’s avoiding adverse selection.

¢) are generally unable to monitor workers, who do not care about the profits due the managers.

4. You are the owner of a rare bottle of wine valued at $332. There are no costs associated with storing or selling
the wine. Next year you expect the wine to increase in vatue to $350. If the interest rate is 10 percent:
a) you should sell the wine today.
b) you should keep the wine for at least one more year.
c) you are indifferent between seiling the wine today or holding it for one more year.

d) more information is needed to answer this question.

5. - Some universities consider to offer “tuition bonds.” Parents can purchase a bond at the time their child is born.
The bond is redeemable in 18 years for an amount of money equal to the cost of the upiversity’s tuition at that
time. Which of the following would reduce the market price of these bonds?

a)  Anincrease in the rate of interest.

b) A decrease in the rate of interest.

c) " The passage of legislation limiting increases in college tuition of the rate of inflation.

d) both (a) and (c).
¢) both(b) and (c).
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6. Your firm needs a private investigator and the best private eye in Kaohsiung is Mr. Wang.‘ His services are
worth $300k to your firm but you do not want to pay him more than $100k . You tell Wang that you cannot
pay him more than $100k unless you get prior approval from the Board of Directors of your company, and ,
unfortunately, they just met and won’t meet again for 6 months. This strategic move on your part gives you
flexibility and _____ bargaining power.

a) less, less
~b) less, more
¢) more, less

d) more, more

7. Use the following statements to answer this question.
L To maximize profit, 2 firm will advertise more when the advertising elasticity is larger.
IL To maximize profit, a firm will advertise more when the price elasticity of demand is smaller.

a) bothI and I are true.

b) Iistrue and I is false.

¢) lisfalse and I is true.
. d) bothIand II are false.

8. A country’s government would like to raise the price of one its most important agricultural crops, coffee
beans. Which is the following government programs will result in higher prices for coffee beans?

a)  An import quota on coffee beans.

b)  An acreage limitation program which provides coffee bean farmiers financial incentives to leave some
of their acreage idle. |

¢)  Animport tariff on coffee beans.

d)  All of the above.
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Suppose mountain spring water can be produced at no cost and that the market demand for mountain spring

water is given as follows:

P=1200-0Q

a) What is the profit maximizing level of output and price of a monopolist?

b) What level of output would be produced by each firm in a Cournot duopoly in the long run? What will

the price be?

0. 3E7eEE - A S - EARER

1 (SR TN C = C, +0.8(Y - T),G =100, T =100, Hl B SN T e
RN 1007

-Z%%%ﬁﬁm%ﬂ%$LMﬁﬂ%ﬁ,%¢%ﬁﬁ%ﬁ%ﬁ%§ﬁ%&%ﬁﬂ$ﬁﬁﬁﬁ,W
IR e 7

3 fE B SR R C=100+0.8Y, =500, & EIBEAT R Y=20008, e

4. % EIEE A S RSB BC100+0.8Y, MESNSERRANBERC=50:0.1Y,
[=200, G=100, X=500, RIFZBISEEIRAHER

5. SRR SIERS00, R0, SFTORAEET % ERTEEACHETER, T
BRI TERR R R0.1, ST ER TR, AR T ERRER

6 AN AEA BT E SRR AR EEEH RAEBMSRTIRR0E » BEEH
88, MHTE=100, EoasgTE20, FE=10 8E s FIEE20, RIARIGNP=____




B P uREHNF—S2FERALIER L NAAE
apn . CEVR(F (T A.R)) s

1. BFmEESEEREANIEER RS EEAT ALY  ETEH
bl IR I ST T ETFREBHEAR TR E LR
& - (BENEIER 500 ) (ZTHHED

2. HEBFERRE T E AR BRI RS - BT EULE
DR TR - EHERFEEHS UL BRERT » MFERY - (R
TR 500 F) (TR

3. B CsEsEEs BNREESATHORIRE - FEZRRAREREL
SYERE ) 2EA  ALBINSBIARBORZ IS - BORLRERIEE
GBS R IRR] - ( 7DD

4%ﬁéﬁ%ﬁi$$ﬁ’%ﬁﬁﬁﬁﬁéﬁﬁmﬁ@'ﬁﬁﬁﬁﬁﬁﬁﬁﬁ
FlsiEE - SR IEIRIBEEE 7 (Z+an)




B30 R+ — S0 B AR A R

ﬁa/ﬁiﬁ//ﬁ(/égézﬁ,/%‘g:‘?ﬂﬂ_) __# (%% /%

Show your work.
1. i Differentiate f(x)})=In snx
X

i, Find the differential dw where w =exp(-x* - y*).{10%)

2  Evaluate the following integrals. ~ {35%)

i J’x%/x3+9d¥ i jﬂ— fii. j32-‘dx i, jxe"dx
3

(30-x*)
P i2
J # vi, = I J'xze-'drdy
(x+1)(x" +1) Jx+1 F)

3 Evaluate the limits. 7 |im In(1+x) i, Jim@d+ l)" (10%)
x

x=0 X 10"

4 Let f beadifferentiable function such that f{7)=/. If F(x)= f(x") and
G(x)=(f(x))" where nis a fixed integer. show that F(1) = G(1) and F'(1} = G'(]).
(5%)

5. fis defined in the neighborhood of . Prove that if fis differentiable at 4, then f

- R -iscontinuousata. (10%) 0 e

6. Graph the function f(x)=2x>—3x’ —=36x+7. Please indicate the roots, the
local extrema, inflection point, (if any), increasing, decreasing, concave, and

convex intervals. {10%)

7. Find the Taylor’s 4 degree polynomial for f{(x)=e" at =/ with the remainder.
(10%)

8. There is a language that evolves in such a way that 77% of all words disappear
(or are replaced) every 1000 years, Of a basic list of words used in that language in
1400 A.D., what percentage should we expect to find still in use today? (10%)
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Choose the one alternative that best complete the statement or answers the question.

1. When the price is below the equilibrium price, the quantity demanded
is less than the equilibrium quantity. So is the quantity supplied.
b. is less than the equilibrium quantity. The quantity supplied exceeds the
equilibrium quantity.
exceeds the equilibrivm quantity. So does the quantity supplied.
d. exceeds the equilibrium quantity. The quantity supplied is less than the
equilibrium quantity.

o

o

2. If the price of a good changes but everything else influencing suppliers' planned
sales remains constant, there is a
a. new supply curve.

b. movement along the old demand curve.

c. movement along the supply curve.

d. rotation of the old supply curve around the old price,

3. If real GDP increases by 5 percent and population increases by 10 percent,
a. nominal GDP per person declines.
b. nominal GDP per person rises.
¢.” real GDP per person rises.
d. real GDP per person declines.

4. If you borrow $500.00 for one year and repay the amount you borrowed after one
year along with $50.00 in interest, the interest rate on your loan was
a. 5 percent.

b. 50 percent.
c. 10 percent.
d. 20 percent.

5. If the economy's capital stock grew over the past year, _
a, net private domestic investment exceeded gross private domestic investment.
b. net private domestic investment was positive.
¢. depreciation exceeded net private domestic investment.

d. depreciation exceeded gross private domestic investment,

6. Suppose that nominal per capita GDP was $18,000 in 1993, the 1990 GDP deflator
was 100, and the 1993 GDP deflator was 110. The approximate real per capita GDP

in 1993 was

a. $16,364.

b. $16,634. )
c. $16,800.

d. $18,000.
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7. Real wages rise if money wages
a. rise and then the price level is constant.
b. rise more slowly than the price level.
¢. are constant and the price level is rising,
d. and the price level are changing by the same amount,

8. Suppose that the money wage rate is $5 per hour and that the price level is 100. If
the money wage rate falls to $4 per hour and the price level does not change, what
happens to the real wage rate?

a. The real wage rate doubles.

b. The real wage rate rises but does not double.
c. The real wage rate does not change.

d. The real wage rate falls.

9. If a French wine costs 1,000 francs and the exchange rate between the U.8, dollar
and the franc is FF10 = §1, the price of the wine in dollars is

FF10.

$100.00.

$0.10.

$1.00.

oo p

10. A decrease in the expected profit rate shifts the curve to the left and
the real interest rate.
a. saving supply; lowers

investment demand; lowers

saving supply; raises

investment demand; raises

pe o

11. If people specialize in activities in which they have a comparative advantage, they
will be engaging in monetary exchange.

can acquire goods and services at the lowest possible cost.

will acquire goods, but not services, at the lowest possible cost.

can acquire goods and services at the highest possible cost.

a0 o

12. All of the following would stimulate the production of new knowledge EXCEPT
a. raising taxes on the return to investment.
b. reducing taxes on saving.
¢. taxing consumption, not saving.
d. subsidizing high-technology industries.

13. An economy characterized by very low unemployment and high inflation is likely
to bein
a. arecesslonary gap.
b. afull-employment equilibrium.
¢. aninflationary gap.
d. adepression.
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14. Persistent inflation is caused by
a. persistent shifts of the apgregate demand curve rightward.
b. persistent shifts of the short-run aggregate supply curve rightward.
¢. the tendency for long-run aggregate supply to increases faster than aggregate
demand.
d. persistent shifts of the short-run aggregate supply curve leftward, accompanied
by persistent shifis of the aggregate demand curve leftward.

15. Actual expenditure often differs from planned expenditure because actuat
a. consumption often differs from planned consumption.
b. investment often differs from planned investment.
¢. government purchases often differ from planned government purchases.
d. net exports often differ from planned net exports.

16. Say that the multiplier is 5.0 and, owing to an increase in expected future profit,
investment increases by $30 billion. If potential reat GDP is unaffected, in the long
run equilibrium real GDP will
a. rise by $50 billion.

b. rise by more than $50 billion.
c. rise by less than $50 billion.
d. be unaffected.

17. The transfer payments multiplier is

larger than the government purchases multiplier.
smaller than the government purchases multiplier.
the same as the lump-sum tax multiplier.
negative.

ae o p

18. Crowding out occurs if
a.  the return on public capital investment exceeds that on potential private capital

investment,

b, the economy is at full employment and government deficits finance the
purchase of consumption goods.

¢. unemployment is high.

d. adeficit is money financed.

19. Banks make additional loans when required reserves

exceed actual reserves, a situation of negative excess reserves.
are below actual reserves, a situation of negative excess reserves.
exceed actual reserves, a situation of positive excess reserves.
are below actual reserves, a situation of positive excess reserves.

Ao of
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20. According to the quantity theory of money, tripling of the money supply would
lead to
a. less than ‘ripling of the price level.
b. more than tripling of the price level.
¢. tripling of the price level.
d. ftripling of real GDP in the short run.

21, A(n) in the reserve ratio wiil the money multiplier.
a. increase; have no effect on
b. increase; decrease
¢. decrease; increase
d. decrease; will have no effect on

22. Which of the following would reduce the demand for money?

a. Lowering real GDP.

b. Raising interest payments on checking accounts.
c. Raising the price level.

d. Lowering interest rates.

23. Demand-pull inflation always is caused by

a. government purchases.
b. the money supply. -
c. real wage rates.

d. aggregate supply.

24. Celine Dion invests $100 in a 30-year bond with an annual yield of 7.5 percent.
Every year she will reinvest her interest income, also at an annual yield of 7.5
percent. If inflation is 7.5 percent for each of the next 30 years, at the end of the
period her investment will be worth
a less than $100 at today's prices.

b. $100 at today's prices.
c. between $100 and $875 at today's prices.
d. $875 at today's prices.

25. Contraction of the money supply can cause a recession because it
increases prices and aggregate demand.

reduces current aggregate supply.

reduces aggregate demand.

increases aggregate demand.

po o

26. With respect to permanent changes in prices, short-run supply is likely to be
more elastic than momentary supply but less elastic than long-run supply.
less elastic than momentary supply but more elastic than long-run supply.
less elastic than both momentary and long-run supply.

more elastic than both momentary and long-run supply.

oo o




B3 KAt — 8RR 90 A

#a ?ZZW%% (i

27. If demand is very inelastic, in the 1ong run a sales tax will cause the tax-included
price paid by buyers of the good

a. to rise by almost the amount of the tax.
b. to rise by more than the amount of the tax.
c. to fall by almost the amount of the tax.
d. to fall by more than the amount of the tax,

28. An individual demand curve would NOT shift as a result of a change in
a. the individual's income.,
b. the price of a complement.
c. the price of a substitute.
d. production cost.

29. If total fixed cost is shown on the vertical axis as output varies along the
horizontal axis, the curve representing a firm's total fixed cost
a. is horizontal.
b. is vertical.
c. has negative slope.
d. has positive slope. -

30. The most common source of decreasing returns to scale is

the application of the law of diminishing returns to capital.

the application of the law of diminishing returns to labor.

the application of the law of diminishing returns to land.

growing complexity of management and organizational structure,

Ao oo

= R (40%)

(—) SEAEFETIR4HE (market failure) » FXFFETE (zovernment failure) BAREHFE
B (Coase Theorem) : SEFAEEE S RIMIH B 1H AP & TR BRI S TE
Ri% -

(Z)FEERTEHE (asymmetric information) T 047 &% 4 36 14 382 (adverse

selection) BRUEMEREM (moral hazard) SR ? HEPIERHRIBERSHEE
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2. ERTE—Rt@iE - TR BT . RGN
3 ~ MERHEEZE - [25 53]

3. (UREESENE (management matix) » LY  [10 5]

4, [EEFAREHRBRS - EEHNERL  ENEREN 7 FEORER
%2 - [204) | |

5. xﬁﬁﬁﬁﬂﬁﬁ%’éﬁﬂﬁu‘%ﬂ% B Wﬂﬁﬂ%ﬁ@ﬁ%ﬁ%ﬁ%ﬁ%
BT - AN » RV EIEREE - B - FEE EANTE
B3I BEATR MRS ? ABRIRLATR  SRFHEEH
R E - [20 3]
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3. Which curve below (1) represents a symmetric distribution (
#E) 7 (2)has the largest variance ? [ A% 8 4]
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R ZHA AR MG ER - 2 HEHANERA L ETREERS
BAEABE XL 100A BREFASHB & 1-[ 28155 ]
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5. Which of the following is correct? [ A% 5 4]

A) Most of the time, Type I errors are set to .05
B) Type I and Type II errors often add up to a constant

C) Researchers usually assume that Type I errors have worse

consequences than Type I errors
D) AandB
E) AandC
F) BandC

6. If we tried to run a r-test but found that the group variances
are unequal, what can we do? Just give one solution. [ A%
10 4]

7. ERAAMRTERA INASEATHESAM - REARRE
BRZAFZ CHMEISS  SBRBRETWFARAT &K
BB EEB0HEAL M—BARARGE BEARLSHAEG
B6Fn MEIAERALGRLTE BAREERTEM L
P ER A ERAK 20 A E 2RI H 2 A E
AEINFEA FEUAFRAF 24 EHA —~EA BN A
93 F A RAZBFAALEZT EHXATHRFESEAE B
RN TERARRESEL BEFARMNE BHRSHR
AEHM o HLBBREATAE? [FA5a]
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9. R2AEXRIBERLER FRBFEIEADE T
EEMABHLTEIR?  ABREHER [£8104]

£2 AXEAREBKEH
¥ AB B A OH OAK FE AH oH AH
24 21 167 42 835 62 2775 82 226
11 22 203 43 956 63 2863 83 128
11 23 211 44 986 64 2803 84 78
14 24 250 45 1084 65 2874 85 56
73 25 231 46 1125 66 2899 86 43
10 26 259 47 1139 67 2725 87 25
34 27 292 48 1309 68 2784 88 11
31 28 337 49 1349 69 2566 89 8
31 29 321 50 1382 70 2382 %0 3
38 30 391 51 1570 71 2170 91 2
10 43 31 404 52 1662 72 2122 92 2
11 66 32 421 53 174173 1770 93 1
12 81 33 478 54 1890 74 1611 94 1
13 65 34 520 55 2027 75 1309 95 1

0

0

0

0

0

oo ST R RWND = O

14 75 35 529 56 2069 76 2120 96

15 84 36 566 57 235177 890 97

16 99 37 633 58 235678 670 98

17 120 38 712 59 249679 580 99

18 126 39 715 60 - 2510 80 389 100
19 147 40 762 61 2655 81 302

20 177 41 780 62 2750 82
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(1) MENEF AN T ROV FHEAQ) G

(b) ZHERERBARFEGHH AKXy = -2000 + 200>
b3t sk KX &9 SSE 2 (a)ik A7 4% 49 SSE
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A3 BACRATFYBEEH

Aer #miE €% A FHE TR AN FHE TH
A 0 G 0) B

1 20 1630 5 29 2440 9 31 35%0

2 18 800 6 31 3200 10 29 2860

3 22 1240 7 32 3660 11 27 1850

4 26 2200 8 32 23 1580

3880 12

1.2 4 AEARHHNSERAERS

ER T[4 154]

(At HH ETHEBMIAPEBER?

(b) RBEIH SR THE AW 7

COZERAMLEHAATREVEO)TRER

R4 M ESRAR KA LNERSH (V=109)

FALBGAT NN BDE

SR ) Ad A BEE FHE PR
A g 33 .79 114 159 0.115
3 72 199 114
378 16-19 & 3 125 050 280 o021
20-29 % 15 107 121
30-39 & 17 218  0.88
40-49 % 33 197 129
5050% - 19 232 089
60-70 22 205 100
THEW £ 17 154 120 072 0545
ik 77 200 110
ME 7 1.78 1.30
FEx ¥z 5 175 117
HETRE BN-E¥ 21 1.95 1.24 1.16  0.328
EBF - B 55 205 106
X% (&#) 24 158 L14
AF L 4 .50 129

5 <0.05
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2/ A%/ R
— ~ B NIRRT SR (Planning Theory ) I » REHIRF LI T =B HRRE]
4 (1) BEE MRS (Comprehensive Rational Planning ) 5 (2)#fiE=UH#1
( Incremental Planning } ; (3)5FH% {45 #] ( Strategic Planning ) - 7 AELER
EHRBIERT e - Ha 5 - RHBRE ER SO SE AR IR
7 - (30%)
- AL T AT ER - (20%)
1. HREEN =R (3R)};
2. BBEEE A IUTENNY (4 outputs)
3. RS (3P)
4. BB (TDR) -
= TR RIS RIS A Rz - WO ET AR : (308 )

() HERAHLBRAT S BBZHT RINES RATRLTEHGRES
- K i(6% ) \

AR REERT  GRAR AT USTENLARS LT ARKZ ALY

L GREARERRRER SRR R R (12 ) :

() AXDXERAARARERBLER  ERBETEHNG $RuL s
ﬁ%#ﬁiﬂ?%ﬁ#*ﬁ%ﬁ%&%i%’ﬁ%ﬁ%ﬁﬂfi%u%)

AN R LR L el RS U PN E R T I ey

o HEETIAR  (20% )

(=) R SA RS e T3 BB T RAAL? (5% )

() HABLRLMREH LR BN E KRBT R L BRI BT RS

' BRGHHEES TTRERRE T RHBERGE T ERUBRE | SR
HA - HRUE B R - (105 )

(Z) #PREVERRELE "RRBBE | SRAMEL B L 25
BT ARARABINE . (&)
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